102
E2503
Java .Net
O]
@ 40 1 40
2 30 60
® 2B
@ _
®
10
®
40 1
1 1
® DRAM @ PROM ® EPROM @ EEPROM
1 2 2% (Bytes, B) GB
® 16 GB @ 32GB ® 34GB @ 48 GB
3 3 400006 ~ 7TFFF () 2 (Bytes, B)
® 16 KB @ 24KB ® 32KB @ 48 KB
2 4. Runlength aaabbbbbcc
@ abc352 @ a3b5c2 ® 3a5b2c @ 352abc
4 5, 4 A= 010101(2) B= 24(8) X= 77(10) Y = 4E(16) (
M(n) M ” n” )
OA X @A Y ®B X @B Y
3 6. A =101.101, A
@ 5.549) @ 5.525(, ® 5.625(1) @ 5,725
2 7. Xy X,y (XANDy)’
® xORYy @ x ORY ® xXORYy @ x XORY
4 8 Xx Yy 10101 XOR xxyyy = 01010 X
® x=0 y=0 @x=0 y=1 ®x=1 y=0 @x=1 y=1
3 9 vy
® 0O0RYy @yORYy ® O0ANDYy @ yANDYy
4 10. M n(n> 20) M
® O(nlog,n) @ O(2n?) ® O(n®) @ O(2"
2 11 (list) n ” " (bubble sort)
® O(2n) @ O(nd) ® O(log,n) @ O(log,n?)
3 12 m (binary search) (target)
® O(m) @ O(nf) ® O(logzm) @ O(mlog,m)
2 13. (linked list) (node) (pointers) ” (next)
0) (head) @ (previous) ® (middle) O] (tail)
2 14 ? (recursive function) Q Q(25,5)
Q(a,b)=Q(a—b,b)+2,ifa b; Q(a,b)=1,ifa b
® 8 @9 ® 10 @ 11

2 15. total =0,n=1 tota n
WHILE(n <=5) DO
{ total =total +n*2; n=n+1;}
®30 5 @30 6 ®55 5 @55 6
2 16. k 4 (1000~9999) (floding method) H H(k)
2 (00~99) H(1268) =80 H(8612) =98 H(6182) =
© 34 @ 43 ® 53 @ 64
4 17. (Internet) (IP address)
® IPv3 IPv4 @ IPv3 IPV5 ® IPv4 IPV5 @ IPv4 IPv6
1 18 IP
® 6.256.13.166 © 7.255.12.177
® 8.254.11.188 @ 9.253.10.199
2 19 (subnet mask) IP  255.255.255.192
® 2 @4 ® 6 @ 8
1 20. IP  255.255.255.224  140.124.70.10
® 140.124.70.80 @ 140.124.70.100
® 140.124.70.120 @ 140.124.70.140
3 21 (wireless LAN, Wi-Fi) (protocol)
O IEEE 802.1 @ IEEE 802.5
® IEEE 802.11 @ |EEE 802.15
4 22. WIMAX WIMAX
O] @ ® @
1 23 TCP IP UDP
O] 1P :TCP/ UDP
@ :UDP TCP/ IP
® : TCP/ UDP 1P
@ : TCP/IP : UDP
1 24 WAN/MAN LAN/PAN
® WAN PAN @ WAN LAN
® MAN PAN @ MAN LAN
4 25. (hub) (topology)
O] (bus) @ (mesh)
©) (ring) @ (star)
2 26. (browser) (web servers)
O SMTP @ HTTP ® FTP @ UTP
3 2. (E-mail)
O SMTP @ IMAP ® DHCP @ POP3
3 28 (E-commerce)
® C2B @ C2G ® B2C @ B2G
4 29 SSL/SET
O] @
® @
3 30. (asymmetric key)
(key) /
O] @
® @
3 31 (DoS attack)
O] @
® @
4 32.
0] @ ® @



4 33

( [Ctr]]  Citrl [X] X

@ [Ctrl] +[X] @ [Ctrl] +[V] ® [Ctrl] +[D] @ [Ctrl] +[C]
1 34 (icon) ” "
0] (right click) @ (Ieft click)
® (double click) @ (tripe click)
4 35. Windows8 Android i0OS (smart phone)
0) @ @
1 36. (hyper link)
@ <A HREF="BanK\staff.htm” > </A> @ <B HREF="Bank\staff.ntm” >
® <C HREF="Bank\staff.htm"’> </C> ® <D HREF="Bank\staff.htm” >
4 37.
0) @ ® @
3 38 (modularity)

(coupling)
0] @
® ®
1 39 a I3
0) (acceptance) @ (smoke)
®  (load) @  (stress)

2 40. MTTF (mean time to failure)

® (MTTF+MTTR) /2
@ MTTF + MTTR
® (MTTF x MTTR) °°
® MTTF x MTTR

MTTR (mean time to repair)

MTBF (mean time between failure)

30
Account Java class
class Account
{
int No; Il
int Balance; //
public Account(int Num, int Bal)
{
No = Num;
Balance = Bal;
}
}
console

Scanner console = new Scanner(System.in);

Java
console

Java

Java

100  Account (array)
15
Account 5
Account

10

HTML form

<p>Book 1. <input type="text" name="nol"/>
Price: <input type="text" name="pricel"/></p>

<p>Book 2: <input type="text" name="no2"/>
Price: <input type="text" name="price2"/></p>

<p>Total: <input type="text" name="total"/></p>

</B>
</D>
Book 1: Price:
(cohesion) Book 2: Price:
Total:
ISBN HTML form
C# VB ASP.net server
(total) bool CorrectPrice true
Book class
public class Book
{
public string No; /1SBN
publicint ListPrice; /1
}
BookArray Book class object
HTML form
BookArray (ListPrice) C# VB
BookArray
true fase BookArray
15
Account

ASP.net

(submit)

false

(array)

ISBN

price
15

server
bool Exceed



